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GCSE Exam Questions: Percentage Change

You may use a calculator.
1) (a) Lastyear Ellie’s council tax bill was £1752. This year it has increased to £1813.32.

Calculate the percentage increase.

3)
(b) Ellie pays her council tax monthly. She pays the same amount each month.
Calculate the increase in Ellie’s monthly payments.
(2)
(5 marks)
2) (a) Louis invested £3200 in a bank account.
At the end of the year, interest was added and his new balance was £3296.
Calculate the interest rate used by the bank.
3)
(b) Louis did not make any deposits or withdrawals during the second year.
How much interest was paid to Louis at the end of the second year?
2
(5 marks)
3) Karina owns a shop. She buys 400 tins of baked beans for £200.
Karina sells packs of 4 tins of baked beans for £3.20.
Calculate Karina’s percentage profit.
C))
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GCSE Exam Questions: Percentage Change

4) (a) In 1900 the population of a city was 185000.
By 1950, it had increased to 207200.

Find the percentage increase.

(2)
(b) Between 1950 and 2000 the population increased by a further 5%.
Find the total percentage increase in the city’s population between 1900 and 2000
4)
(7 marks)
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GCSE Exam Questions: Percentage Change Answers

Question Answer Marks
1) (a) | Last year Ellie’s council tax bill was £1752. £1813.32 - £1752 = £61.32 1)
This year it has increased to £1813.32. 61.32
=222 X100 1)
‘ 1752
Calculate the percentage increase. 350 )
1) (b) | Ellie pays her council tax monthly. She pays [ (1813.32-1750)+12 6}
the same amount each month.
£5.11 1)
Calculate the increase in Ellie’s monthly
payments.
2) (a) | Louis invested £3200 in a bank account. Change: £3296 - £3200 = £96 1)
At the end of the year, interest was added and
his new balance was £3296. 96 %100 (1)
Calculate the interest rate used by the bank. 3200
3% 1)
2) (b) | Louis did not make any deposits or 3296X0.03 oe 1)
withdrawals during the second year.
How much interest was paid to Louis at the £98.88 )
end of the second year?
3) Karina owns a shop. 200400 = £0.50 each 1)
She buys 400 tins of baked beans for £200.
Karina sells packs of 4 tins of baked beans for | 3.2+-4 =£0.80 each 1)
£3.20. 20-50
Calculate Karina’s percentage profit. 5'0 X100 a1
60% 0y
4) (a) |In 1900 the population of a city was 185000. |207200-185000 ;o a)
By 1950, it had increased to 207200. 185000
Find the percentage increase. 12% increase 1)
4) (b) [ Between 1950 and 2000 the population 207200
increased by a further 5%. Find the total 100 X105 =217560 1)
percentage increase in the city’s population
between 1900 and 2000. 217560 - 185000 = 32560 1
32560
185000 <100 )
17.6% (0))
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Where to go next?

For more diagnostic questions, and GCSE maths revision resources and
worksheets to support students in fixing any misconceptions take a look
at the free Third Space Learning |GCSE maths revision pages.

Scan the QR code to discover our library of FREE GCSE maths revision
resources

Do you have KS4
students who need
additional support in
maths?

Our specialist tutors will help students to develop the skills they need to
succeed at GCSE in weekly one to one online revision lessons. Trusted
by secondary schools across the UK.

Visit thirdspacelearning.com to find out more.
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